Honam Mathematical J. 33 (2011), No. 2, pp. 247-259

NEW EXACT TRAVELLING WAVE SOLUTIONS OF SOME NONLINEAR EVOLUTION EQUATIONS BY THE $\left(\frac{G'}{G}\right)$ -EXPANSION METHOD

Youho Lee*, Mihye Lee and Jaeyoung An

Abstract. In this paper, the $\left(\frac{G'}{G}\right)$ -expansion method is used to construct new exact travelling wave solutions of some nonlinear evolution equations. The travelling wave solutions in general form are expressed by the hyperbolic functions, the trigonometric functions and the rational functions, as a result many previously known solitary waves are recovered as special cases. The $\left(\frac{G'}{G}\right)$ -expansion method is direct, concise, and effective, and can be applied to many other nonlinear evolution equations arising in mathematical physics.

1. Introduction

Nonlinear evolution equations are widely used as models to describe complex physical phenomena in various fields of sciences, especially in fluid mechanics, solid state physics, plasma wave and chemical physics. One of the basic physical problems for nonlinear PDEs is to obtain their travelling wave solutions. During the past decades, searching for explicit solutions of nonlinear evolution equations by using various different methods has been the main goal for many researchers, and many powerful methods to construct exact solutions of those nonlinear equations have been developed such as the inverse scattering transform [1], the Backlund/Darboux transform [2, 3], Hirota's bilinear method [4], the truncated Painleve expansion [5], the tanh-sech method [6], the extended tanh method [7, 8], the Jacobi elliptic function expansion [9],

Received April 15, 2011. Accepted May 10, 2011.

²⁰⁰⁰ Mathematics Subject Classification. 35L05.

Key words and phrases. $\left(\frac{G'}{G}\right)$ -expansion method; Homogeneous balance; Travelling wave solutions; Solitary wave solutions; BBM equation; Weak symmetric equation; Mindlin equation; Higgs equations.

^{*}Corresponding author.

the F-expansion [11], the sub-ODE method [12, 13], the homogeneous balance method [14], the sine-cosine method [15, 16], the rank analysis method [17], the ansatz method [18, 19], the Exp-function expansion method [20], and so on.

In this paper, the $\left(\frac{G'}{G}\right)$ -expansion method, which is recently developed by Wang et al [21], is used to search for new travelling wave solutions of some nonlinear evolution equations such as the Benjamin, Bona and Mahony equation (BBM equation) [22], a nonlinear model introduced in [23] and a coupled Higgs equation [24]. These equations play an important role in applied scientific fields such as plasma, nonlinear optical fiber and statistical physics. In the following section, the $\left(\frac{G'}{G}\right)$ expansion method is described in great detail.

2. Description of the $\left(\frac{G'}{G}\right)$ -expansion method

Suppose that a nonlinear equation, say in two independent variables x and t, is given by

(1)
$$P(u, u_t, u_x, u_{xx}, u_{tt}, ...) = 0,$$

where u = u(x, t) is an unknown function, P is a polynomial in u = u(x, t) and its various partial derivatives, in which the highest order derivatives and nonlinear terms are involved. To find solution u explicitly, we take the following steps:

Step 1. Combining the independent variables x and t into one variable $\xi = x - \omega t$, we suppose that

(2)
$$u(x,t) = u(\xi), \xi = x - \omega t,$$

the travelling wave variable (2) permits us reducing (1) to an ODE for $u = u(\xi)$

(3)
$$Q(u, u', u'', u''', ...) = 0.$$

Step 2. Suppose that the solution of ODE (3) can be expressed by a polynomial in $\left(\frac{G'}{G}\right)$ ad follows:

(4)
$$u(\xi) = a_m \left(\frac{G'}{G}\right)^m + a_{m-1} \left(\frac{G'}{G}\right)^{m-1} + \cdots,$$

where $G = G(\xi)$ satisfies the second order LODE in the form (5) $G'' + \lambda G' + \mu G = 0,$

 $a_m, a_{m-1}, \dots, \lambda$ and μ are constants to be determined later, $a_m \neq 0$, the unwritten part in (4) is also a polynomial in $\binom{G'}{G}$, but the degree of which is generally equal to or less than m-1, the positive integer m can be determined by considering the homogeneous balance between the highest order derivatives and nonlinear terms appearing in ODE (3).

Step 3. By substituting (4) into (3) and using second order LODE (5), collecting all terms with the same order of $\begin{pmatrix} G' \\ G \end{pmatrix}$ together, the left-hand side of (3) is converted into another polynomial in $\begin{pmatrix} G' \\ G \end{pmatrix}$. Equating each coefficient of this polynomial to zero, yields a set of algebraic equations for $a_m, a_{m-1}, \dots, \lambda$ and μ .

Step 4. Assuming that the constants $a_m, \dots, \omega, \lambda$ and μ can be obtained by solving the algebraic equations in Step 3, since the general solutions of the second order LODE (5) have been well known for us, then substituting a_m, \dots, ω and the general solutions of (5) into (4) we have more travelling wave solutions of the nonlinear evolution equation (1).

3. Application to the BBM equation

Benjamin, Bona and Mahony [22] established the model

(6)
$$u_t + \alpha u_x - \beta u_{xxt} + \kappa (u^2)_x = 0,$$

which is called BBM equation.

Using the travelling wave $u(x,t) = u(\xi), \xi = x - \omega t$ we have from (6) the nonlinear ordinary differential equation

(7)
$$-\omega u' + \alpha u' + \beta \omega u''' + 2\kappa u u' = 0.$$

Integrating (7) with respect to ξ we obtain the second-order equation:

(8)
$$C + (-\omega + \alpha)u + \beta \omega u'' + \kappa u^2 = 0,$$

where C is a constant of integration that is to be determined later.

Suppose that the solution of ODE (8) can be expressed by a polynomial in $\left(\frac{G'}{G}\right)$ as follows:

(9)
$$u(\xi) = a_m \left(\frac{G'}{G}\right)^m + \cdots,$$

where $G = G(\xi)$ satisfies the second order LODE in the form

(10)
$$G'' + \lambda G' + \mu G = 0.$$

By using (9) and (10) it is easily derived that

(11)
$$u^2 = a_m^2 \left(\frac{G'}{G}\right)^{2m} + \cdots,$$

(12)
$$u' = -ma_m \left(\frac{G'}{G}\right)^{m+1} + \cdots,$$

(13)
$$u'' = m(m+1)a_m \left(\frac{G'}{G}\right)^{m+2} + \cdots$$

Considering the homogeneous balance between u'' and u^2 in (8), based on (11) and (13) we require that $2m = m + 2 \Rightarrow m = 2$, so we can write (9) as

(14)
$$u(\xi) = a_2 \left(\frac{G'}{G}\right)^2 + a_1 \left(\frac{G'}{G}\right) + a_0, a_2 \neq 0,$$

and therefore

(15)
$$u^{2}(\xi) = a_{2}^{2} \left(\frac{G'}{G}\right)^{4} + 2a_{2}a_{1} \left(\frac{G'}{G}\right)^{3} + (a_{1}^{2} + 2a_{2}a_{0}) \left(\frac{G'}{G}\right)^{2} + 2a_{1}a_{0} \left(\frac{G'}{G}\right) + a_{0}^{2}.$$

By using (10) and (14) it is derived that

$$u'' = 6a_2 \left(\frac{G'}{G}\right)^4 + (2a_1 + 10a_2\lambda) \left(\frac{G'}{G}\right)^3 + (8a_2\mu + 3a_1\lambda + 4a_2\lambda^2) \left(\frac{G'}{G}\right)^2 + (6a_2\lambda b + 2a_1\mu + a_1\lambda^2) \left(\frac{G'}{G}\right) + 2a_2\mu^2 + a_1\lambda\mu.$$

By substituting (14), (15) and (16) into (8) and collecting all terms with the same power of $\binom{G'}{G}$ together, the left-hand side of (8) is converted into another polynomial in $\binom{G'}{G}$. Equating each coefficient of this polynomial to zero yields a set of simultaneous algebraic equations for $a_2, a_1, a_0, \omega, a, b$ and C. Solving the resulting algebraic equations,

yields

$$a_{2} = \frac{6\beta(\alpha + 2\kappa a_{0})}{(\beta\lambda^{2} + 8\beta\mu - 1)\kappa}, a_{1} = \frac{6\beta(\alpha + 2\kappa a_{0})\lambda}{(\beta\lambda^{2} + 8\beta\mu - 1)\kappa}, \omega = -\frac{\alpha + 2\kappa a_{0}}{\beta\lambda^{2} + 8\beta\mu - 1},$$

$$(17) \qquad \qquad C = \frac{K_{1}}{(\beta\lambda^{2} + 8\beta\mu - 1)^{2}\kappa},$$

where $\lambda, \mu, \alpha, \beta, \kappa$ and a_0 are arbitrary constants and $K_1 = \kappa a_0 \alpha \beta \lambda^2 + 8\kappa a_0 \alpha \beta \mu + \kappa^2 a_0^2 - \kappa a_0 \alpha \beta^2 \lambda^4 + 8\kappa a_0 \alpha \beta^2 \lambda^2 \mu - 16\kappa a_0 \alpha \beta^2 \mu^2 + 6\beta^2 \lambda^2 \mu \alpha^2 + 8\beta^2 \lambda^2 \mu \kappa^2 a_0^2 + 12\beta^2 \mu^2 \alpha^2 - 16\beta^2 \mu^2 \kappa^2 a_0^2 - \kappa^2 a_0^2 \beta^2 \lambda^4.$

By using (17), expression (14) can be written as

(18)
$$u(\xi) = \frac{6\beta(\alpha + 2\kappa a_0)}{(\beta\lambda^2 + 8\beta\mu - 1)\kappa} \left(\frac{G'}{G}\right)^2 + \frac{6\beta(\alpha + 2\kappa a_0)\lambda}{(\beta\lambda^2 + 8\beta\mu - 1)\kappa} \left(\frac{G'}{G}\right) + a_0,$$

where $\xi = x + \frac{\alpha + 2\kappa a_0}{\beta \lambda^2 + 8\beta \mu - 1}t$. (18) is the formula of a solution of (8), provided that the integration constant C in (8) is taken as that in (17).

Substituting the general solutions of (10) into (18) we have three types of travelling wave solutions of the bbm equation (6) as follows:

When $\lambda^2 - 4\mu > 0$,

$$u_{1}(\xi) = \frac{3\beta(\alpha + 2\kappa a_{0})(\lambda^{2} - 4\mu)}{2(\beta\lambda^{2} + 8\beta\mu - 1)\kappa} \left(\frac{C_{1}\sinh\frac{\sqrt{\lambda^{2} - 4\mu}}{2}\xi + C_{2}\cosh\frac{\sqrt{\lambda^{2} - 4\mu}}{2}\xi}{C_{1}\cosh\frac{\sqrt{\lambda^{2} - 4\mu}}{2}\xi + C_{2}\sinh\frac{\sqrt{\lambda^{2} - 4\mu}}{2}\xi}\right)^{2}$$
(19)
$$-\frac{3\beta(\alpha + 2\kappa a_{0})\lambda^{2}}{2(\beta\lambda^{2} + 8\beta\mu - 1)\kappa} + a_{0},$$

where $\xi = x + \frac{\alpha + 2\kappa a_0}{\beta \lambda^2 + 8\beta \mu - 1}t$, C_1 and C_2 are arbitrary constants. If C_1 and C_2 are taken as special values, the various known results in the literature can be rediscovered, for instance, if $C_1 > 0, C_1^2 > C_2^2$, then $u_1 = u_1(\xi)$ can be written as

$$u_1(\xi) = -\frac{3\beta(\alpha + 2\kappa a_0)(\lambda^2 - 4\mu)}{2(\beta\lambda^2 + 8\beta\mu - 1)\kappa} \operatorname{sech}^2\left(\frac{\sqrt{\lambda^2 - 4\mu}}{2}\xi + \xi_0\right)$$

$$(20) \qquad \qquad -\frac{6\beta(\alpha + 2\kappa a_0)\mu}{(\beta\lambda^2 + 8\beta\mu - 1)\kappa} + a_0,$$

which is the known solitary wave solution of the BBM equation (6) (see [22]), where $\xi_0 = \tanh^{-1} \frac{C_2}{C_1}, \xi = x + \frac{\alpha + 2\kappa a_0}{\beta \lambda^2 + 8\beta \mu - 1} t$.

Youho Lee, Mihye Lee and Jaeyoung An

When $\lambda^{2} - 4\mu < 0$, $u_{2}(\xi) = \frac{3\beta(\alpha + 2\kappa a_{0})(4\mu - \lambda^{2})}{2(\beta\lambda^{2} + 8\beta\mu - 1)\kappa} \left(\frac{-C_{1}\sin\frac{\sqrt{4\mu - \lambda^{2}}}{2}\xi + C_{2}\cos\frac{\sqrt{4\mu - \lambda^{2}}}{2}\xi}{C_{1}\cos\frac{\sqrt{4\mu - \lambda^{2}}}{2}\xi + C_{2}\sin\frac{\sqrt{4\mu - \lambda^{2}}}{2}\xi}\right)^{2}$ (21) $-\frac{3\beta(\alpha + 2\kappa a_{0})\lambda^{2}}{2(\beta\lambda^{2} + 8\beta\mu - 1)\kappa} + a_{0},$

where $\xi = x + \frac{\alpha + 2\kappa a_0}{\beta \lambda^2 + 8\beta \mu - 1}t$, C_1 and C_2 are arbitrary constants. When $\lambda^2 - 4\mu = 0$,

$$u_{3}(\xi) = \frac{6\beta(\alpha + 2\kappa a_{0})}{(\beta\lambda^{2} + 8\beta\mu - 1)\kappa} \left(\frac{C_{2}}{C_{1} + C_{2}\xi}\right)^{2}$$

$$(22) \qquad \qquad -\frac{3\beta(\alpha + 2\kappa a_{0})\lambda^{2}}{2(\beta\lambda^{2} + 8\beta\mu - 1)\kappa} + a_{0},$$

where $\xi = x + \frac{\alpha + 2\kappa a_0}{12\beta\mu - 1}t$, C_1 and C_2 are arbitrary constants.

Remark 1. It is used as an alternative the KdV equation which describes unidirectional propagation of weakly long dispersive waves [8]. As a model that characterizes long waves in nonlinear dispersive media, the BBM equation, like KdV equation, was formally derived to describe an approximation for surface water waves in a uniform channel. the equation covers not only the surface waves of long wavelength in liquids, but also hydromagnetic waves clod plasma, acoustic waves in anharmonic crystals, and acoustic gravity waves in compressible fluids. Many researchers are attracted by the wide applicability of the BBM equation [8].

4. Application to a nonlinear model equation for weak symmetries

Consider the model equation introduced in [23]

(23)
$$u_{xxx} + u(u_t + \delta u_x) = 0,$$

where δ is a constant and the subscripts denote differentiation with respect to the variable indicated.

Using the travelling wave $u(x,t) = u(\xi), \xi = x - \omega t$ we have from (23) the nonlinear ordinary differential equation

(24)
$$u''' + u(-\omega u' + \delta u') = 0.$$

Integrating (24) with respect to ξ we obtain the second-order equation:

(25)
$$C + u'' + \frac{1}{2}(-\omega + \delta)u^2 = 0,$$

where C is a constant of integration that is to be determined later.

Considering the homogeneous balance between u'' and u^2 in (25), we require that $2m = m + 2 \Rightarrow m = 2$, so (4) can be written as

(26)
$$u(\xi) = a_2 \left(\frac{G'}{G}\right)^2 + a_1 \left(\frac{G'}{G}\right) + a_0, a_2 \neq 0,$$

and therefore

$$u^{2}(\xi) = a_{2}^{2} \left(\frac{G'}{G}\right)^{4} + 2a_{2}a_{1} \left(\frac{G'}{G}\right)^{3} + (a_{1}^{2} + 2a_{2}a_{0}) \left(\frac{G'}{G}\right)^{2} + 2a_{1}a_{0} \left(\frac{G'}{G}\right) + a_{0}^{2}.$$
(27)
$$2a_{1}a_{0} \left(\frac{G'}{G}\right) + a_{0}^{2}.$$

By using (5) and (26) it is derived that

$$u'' = 6a_2 \left(\frac{G'}{G}\right)^4 + (2a_1 + 10a_2\lambda) \left(\frac{G'}{G}\right)^3 + (8a_2\mu + 3a_1\lambda + 4a_2\lambda^2) \left(\frac{G'}{G}\right)^2$$

$$(28) + (6a_2\lambda b + 2a_1\mu + a_1\lambda^2) \left(\frac{G'}{G}\right) + 2a_2\mu^2 + a_1\lambda\mu.$$

By substituting (26), (27) and (28) into (25) and collecting all terms with the same power of $\begin{pmatrix} G' \\ G \end{pmatrix}$ together, the left-hand side of (25) is converted into another polynomial in $\begin{pmatrix} G' \\ G \end{pmatrix}$. Equating each coefficient of this polynomial to zero yields a set of simultaneous algebraic equations for $a_2, a_1, a_0, \omega, a, b$ and C. Solving the resulting algebraic equations, yields

(29)
$$a_{2} = \frac{12a_{0}}{\lambda^{2} + 8\mu}, a_{1} = \frac{12a_{0}\lambda}{\lambda^{2} + 8\mu}, \omega = \frac{\lambda^{2} + 8\mu + \delta a_{0}}{a_{0}},$$
$$C = \frac{a_{0}(-8\lambda^{2}\mu + 16\mu^{2} + \lambda^{2})}{2(\lambda^{2} + 8\mu)},$$

where λ, μ, δ and a_0 are arbitrary constants.

By using (29), expression (26) can be written as

(30)
$$u(\xi) = \frac{12a_0}{\lambda^2 + 8\mu} \left(\frac{G'}{G}\right)^2 + \frac{12a_0\lambda}{\lambda^2 + 8\mu} \left(\frac{G'}{G}\right) + a_0,$$

where $\xi = x - \frac{\lambda^2 + 8\mu + \delta a_0}{a_0} t$. (30) is the formula of a solution of (25), provided that the integration constant *C* in (25) is taken as that in (29).

Substituting the general solutions of (5) into (30) we have three types of travelling wave solutions of the weak equation (23) as follows:

When $\lambda^2 - 4\mu > 0$, $u_1(\xi) = \frac{12a_0(\lambda^2 - 4\mu)}{\lambda^2 + 8\mu} \left(\frac{C_1 \sinh \frac{\sqrt{\lambda^2 - 4\mu}}{2} \xi + C_2 \cosh \frac{\sqrt{\lambda^2 - 4\mu}}{2} \xi}{C_1 \cosh \frac{\sqrt{\lambda^2 - 4\mu}}{2} \xi + C_2 \sinh \frac{\sqrt{\lambda^2 - 4\mu}}{2} \xi} \right)^2$ (31) $-\frac{3a_0\lambda^2}{\lambda^2 + 8\mu} + a_0$,

where $\xi = x - \frac{\lambda^2 + 8\mu + \delta a_0}{a_0}t$, C_1 and C_2 are arbitrary constants.

If C_1 and C_2 are taken as special values, the various known results in the literature can be rediscovered, for instance, if $C_1 > 0, C_1^2 > C_2^2$, then $u_1 = u_1(\xi)$ can be written as

(32)
$$u_{1}(\xi) = -\frac{12a_{0}(\lambda^{2} - 4\mu)}{\lambda^{2} + 8\mu} \operatorname{sech}^{2} \left(\frac{\sqrt{\lambda^{2} - 4\mu}}{2}\xi + \xi_{0}\right) + \frac{10(\lambda^{2} - 4\mu)a_{0}}{\lambda^{2} + 8\mu}$$

where $\xi_0 = \tanh^{-1} \frac{C_2}{C_1}, \xi = x - \frac{\lambda^2 + 8\mu + \delta a_0}{a_0} t$. When $\lambda^2 - 4\mu < 0$,

$$u_{2}(\xi) = \frac{3a_{0}(4\mu - \lambda^{2})}{\lambda^{2} + 8\mu} \left(\frac{-C_{1}\sin\frac{\sqrt{4\mu - \lambda^{2}}}{2}\xi + C_{2}\cos\frac{\sqrt{4\mu - \lambda^{2}}}{2}\xi}{C_{1}\cos\frac{\sqrt{4\mu - \lambda^{2}}}{2}\xi + C_{2}\sin\frac{\sqrt{4\mu - \lambda^{2}}}{2}\xi} \right)^{2}$$

$$(33) \qquad \qquad -\frac{3a_{0}\lambda^{2}}{\lambda^{2} + 8\mu} + a_{0},$$

where $\xi = x - \frac{\lambda^2 + 8\mu + \delta a_0}{a_0} t$, C_1 and C_2 are arbitrary constants. When $\lambda^2 - 4\mu = 0$,

(34)
$$u_3(\xi) = \frac{12a_0}{\lambda^2 + 8\mu} \left(\frac{C_2}{C_1 + C_2\xi}\right)^2 - \frac{3a_0\lambda^2}{\lambda^2 + 8\mu} + a_0,$$

where $\xi = x - \frac{\lambda^2 + 8\mu + \delta a_0}{a_0} t$, C_1 and C_2 are arbitrary constants.

254

(

5. Application to a coupled Higgs equation

Let us consider the Coupled Higgs equation [24]

(35)
$$u_{tt} - u_{xx} + |u|^2 u - 2uv = 0,$$

(36)
$$v_{tt} + v_{xx} - (|u|^2)_{xx} = 0.$$

Using the wave variables

(37)
$$u(x,t) = e^{i\theta}u(\xi), v(x,t) = v(\xi), \ \theta = px - rt, \ \xi = x - \omega t,$$

(35) and (36) are carried to the nonlinear ordinary differential equation, respectively:

(38)
$$(\omega^2 - 1)u'' + (p^2 - r^2)u - 2uv + u^3 = 0,$$

(39)
$$(\omega^2 + 1)v'' - 2(u')^2 - 2uu'' = 0.$$

Considering the homogeneous balance between u^3 and u'' in (38) and that between $(u')^2$ and v'' in (39) $(3m = n + 2, 2m + 2 = n + 2 \Rightarrow m = 1, n = 2)$, so we can write the solutions by (4)

(40)
$$u(\xi) = a_1 \left(\frac{G'}{G}\right) + a_0, a_1 \neq 0,$$

(41)
$$v(\xi) = b_2 \left(\frac{G'}{G}\right)^2 + b_1 \left(\frac{G'}{G}\right) + b_0, b_2 \neq 0,$$

where $G = G(\xi)$ satisfies the second order LODE:

(42)
$$G'' + \lambda G' + \mu G = 0,$$

and $a_1, a_0, b_2, b_1, b_0, \lambda$ and μ are constants to be determined later.

By using (40), (41) and (42) it is derived that

$$uv = a_1b_2\left(\frac{G'}{G}\right)^3 + (a_1b_1 + a_0b_2)\left(\frac{G'}{G}\right)^2 + (a_0b_1 + a_1b_0)\left(\frac{G'}{G}\right) + (43)$$

(44)
$$u^{3}(\xi) = a_{1}^{3} \left(\frac{G'}{G}\right)^{3} + 3a_{1}^{2}a_{0} \left(\frac{G'}{G}\right)^{2} + 3a_{1}a_{0} \left(\frac{G'}{G}\right) + a_{0}^{3}.$$

(45)
$$u' = -a_1 \left(\frac{G'}{G}\right)^2 - a_1 \lambda \left(\frac{G'}{G}\right) - a_1 \mu.$$

Youho Lee, Mihye Lee and Jaeyoung An

$$u'' = 2a_1 \left(\frac{G'}{G}\right)^3 + 3a_1 \lambda \left(\frac{G'}{G}\right)^2 + (2a_1\mu + a_1\lambda^2) \left(\frac{G'}{G}\right) + (46)$$

By substituting (43)-(46) into (38) and (39) and collecting all terms with the same power of $\left(\frac{G'}{G}\right)$ together, the left-hand side of (38) and (39) is converted into another polynomial in $\left(\frac{G'}{G}\right)$. Equating each coefficient of (38) and (39) to zero yields a set of simultaneous algebraic equations for $a_1, a_0, b_2, b_1, b_0, \omega, \lambda$ and μ . Solving the resulting algebraic equations, yields the sets of coefficients the followings:

(47)
$$a_{1} = \frac{2a_{0}}{\lambda}, b_{2} = -2, b_{1} = -2\lambda, b_{0} = -\frac{4\mu\lambda^{2} - \lambda^{2}p^{2} + \lambda^{2}r^{2} - a_{0}^{2}\lambda^{2} + 4a_{0}^{2}\mu}{2\lambda^{2}}, \omega = \pm \frac{\sqrt{-2a_{0}^{2} - \lambda^{2}}}{\lambda},$$

where λ, μ and a_0 are arbitrary constants.

By using (47), expression (40) and (41) can be written as

(48)
$$u(\xi) = \frac{2a_0}{\lambda} \left(\frac{G'}{G}\right) + a_0,$$

(49)
$$v(\xi) = -2\left(\frac{G'}{G}\right)^2 - 2\lambda\left(\frac{G'}{G}\right) - \frac{4\mu\lambda^2 - \lambda^2p^2 + \lambda^2r^2 - a_0^2\lambda^2 + 4a_0^2\mu}{2\lambda^2},$$

where $\xi = x \pm \frac{\sqrt{-2a_0^2 - \lambda^2}}{\lambda}t$.

Substituting the general solutions of (42) into (48) and (49) we have three types of travelling wave solutions of the coupled Higgs equation (38) and (39) as follows:

When $\lambda^2 - 4\mu > 0$,

$$u_1(\xi) = \frac{a_0\sqrt{\lambda^2 - 4\mu}}{\lambda} \left(\frac{C_1 \sinh\frac{\sqrt{\lambda^2 - 4\mu}}{2}\xi + C_2 \cosh\frac{\sqrt{\lambda^2 - 4\mu}}{2}\xi}{C_1 \cosh\frac{\sqrt{\lambda^2 - 4\mu}}{2}\xi + C_2 \sinh\frac{\sqrt{\lambda^2 - 4\mu}}{2}\xi} \right) \times \exp[\mathbf{i}(px - rt)],$$
(50)

$$v_{1}(\xi) = -2(\lambda^{2} - 4\mu) \left(\frac{C_{1} \sinh \frac{\sqrt{\lambda^{2} - 4\mu}}{2} \xi + C_{2} \cosh \frac{\sqrt{\lambda^{2} - 4\mu}}{2} \xi}{C_{1} \cosh \frac{\sqrt{\lambda^{2} - 4\mu}}{2} \xi + C_{2} \sinh \frac{\sqrt{\lambda^{2} - 4\mu}}{2} \xi} \right)^{2}$$
(51)
$$-\frac{-\lambda^{4} + 4\mu\lambda^{2} - \lambda^{2}p^{2} + \lambda^{2}r^{2} - a_{0}^{2}\lambda^{2} + 4a_{0}^{2}\mu}{2\lambda^{2}},$$

where $\xi = x \pm \frac{\sqrt{-2a_0^2 - \lambda^2}}{\lambda} t$, a_0, C_1 and C_2 are arbitrary constants. In particular, if $C_1 \neq 0, C_2 = 0$, then $u_1 = u_1(\xi)$ can be written as

(52)
$$u_1(\xi) = a_0 \lambda \tanh \frac{\lambda}{2} \exp[\mathbf{i}(px - rt)],$$

(53)
$$v_1(\xi) = 2\lambda \operatorname{sech}^2 \frac{\lambda}{2} + 2 + \lambda^2 + p^2 - r^2 - a_0^2,$$

which is the known solitary wave solution of the coupled Higgs equation (35) and (36) (see [24]). When $\lambda^2 - 4\mu < 0$,

(54)
$$u_2(\xi) = \frac{a_0\sqrt{4\mu - \lambda^2}}{\lambda} \left(\frac{-C_1 \sin\frac{\sqrt{4\mu - \lambda^2}}{2}\xi + C_2 \cos\frac{\sqrt{4\mu - \lambda^2}}{2}\xi}{C_1 \cos\frac{\sqrt{4\mu - \lambda^2}}{2}\xi + C_2 \sin\frac{\sqrt{4\mu - \lambda^2}}{2}\xi} \right),$$

$$v_{2}(\xi) = -2(4\mu - \lambda^{2}) \left(\frac{-C_{1} \sin \frac{\sqrt{4\mu - \lambda^{2}}}{2} \xi - C_{2} \cos \frac{\sqrt{4\mu - \lambda^{2}}}{2} \xi}{C_{1} \cos \frac{\sqrt{4\mu - \lambda^{2}}}{2} \xi + C_{2} \sin \frac{\sqrt{4\mu - \lambda^{2}}}{2} \xi} \right)^{2} \\ (55) \qquad -\frac{-\lambda^{4} + 4\mu\lambda^{2} - \lambda^{2}p^{2} + \lambda^{2}r^{2} - a_{0}^{2}\lambda^{2} + 4a_{0}^{2}\mu}{2\lambda^{2}}$$

where $\xi = x \pm \frac{\sqrt{-2a_0^2 - \lambda^2}}{\lambda} t$, a_0, C_1 and C_2 are arbitrary constants. When $\lambda^2 - 4\mu = 0$,

(56)
$$u_3(\xi) = 0,$$

(57)
$$v_3(\xi) = -\frac{-\lambda^4 + 4\mu\lambda^2 - \lambda^2p^2 + \lambda^2r^2 - a_0^2\lambda^2 + 4a_0^2\mu}{2\lambda^2},$$

where $\xi = x \pm \frac{\sqrt{-2a_0^2 - \lambda^2}}{\lambda}t$, a_0, C_1 and C_2 are arbitrary constants.

6. Conclusion

In this paper, we obtained three types of new travelling wave solutions in general form for some nonlinear evolution equations, the Benjamin, Bona and Mahony equation, the weak symmetric equation, the Mindlin equation and the Higgs equations based on the $\left(\frac{G'}{G}\right)$ -expansion method, and as a result some of the previously known traveling wave solutions were recovered as special cases. Our results reveal that the $\left(\frac{G'}{G}\right)$ -expansion method is concise, direct, easy to apply, yet powerful tool for solving various kinds of nonlinear problems arising in mathematical physics.

References

- M.J. Ablowitz, P.A. Clarkson, Solitons, Nonlinear Evolution Equations and Inverse Scattering Transform, Cambride Univ. Press, Cambridge, 1991.
- [2] M. Wadati, H. Shanuki, K. Konno, Relationships among inverse method, Backlund transformation and an infinite number of conservative laws, Prog. Theor. Phys. 53 (1975) 419-436.
- [3] V.A. Matveev, M.A. Salle, Darboux Transformation and Solitons, Springer, Berlin, 1991.
- [4] R. Hirota, Exact N-soliton solutions of the wave equation of long waves in shallow water and in nonlinear lattices, J. Math. Phys. 14 (1973) 810.
- [5] F. Cariello, M, Tabor, Similarity reductions from extended Painleve' expansions for nonintegrable evolution equations, Physica D. 53(1991) 59-70.
- [6] W. Malfliet, W. Hereman, The tanh method for travelling wave solutions of nonlinear equations, Phys. Scr. 54 (1996) 563-568.
- [7] S. A. El-Wakil, M.A. Abdou, New exact travelling wave solutions using modified extended tanh-function method, Chaos Solitons Fractals 31(4) (2007) 840-852.
- [8] A. M. Wazwaz, The extended tanh method for new solitions solutions for many forms of the fifth-order KdV equations, Appl. Math.Comput. 184(2) (2007) 1002-1014.
- [9] C. Q. Dai, J.F. Zhang, Improved Jacob-function method with symbolic computation to construct new double-periodic solutions for the generalized Ito system, Chaos Solitons Fractals 28 (2006)112-126.
- [10] X. Q. Zhao, H. Y. Zhi, H. Q. Zhang, Improved Jacobi-function method with symbolic computation to construct new double-periodic solutions for the generalized Ito system, Chaos Solitons Fractals 28 (2006) 112-126.
- [11] M.L. Wang, X.Z. Li, Extended F-expansion method and periodic wave solutions for the generalized Zakharov equations, Phys. Lett. A 343 (2005) 48-54.
- [12] J.L.Zhang, M.L. Wang, X.Z.Li, The subsidiary ordinary differential equations and the exact solutions of the higher order dispersive nonlinear Schrodinger equation. Phys. Lett. A 357 (2006) 188-195.

- [13] M.L. Wang, X.Z. Li, J.L.Zhang, Various exact solutions of nonlinear Schrodinger equation with two nonlinear terms, Chaos Solitons Fractals 31 (2007) 594-601.
- [14] M.L. Wang, Exact solutions for a compound KdV-Burgers equation, Phys. Lett. A 213 (1996) 279-287.
- [15] A.M. Wazwaz, Distinct variants of the KdV equation with compact and noncompact structures, Appl. Math. Compt. 150 (2004) 365-377.
- [16] A.M. Wazwaz, Variants of the generalized KdV equations with compact and noncompact structures, Comput. Math. Appl. 47 (2004) 583-591.
- [17] X. Feng, Exploratory approach to explicit solution of nonlinear evolution equations, Int. J. Theor. Phys. 39 (2000) 207-222.
- [18] J.L. Hu, Explicit solutions to three nonlinear physical models, Phys. Lett. A 287 (2001) 81-89.
- [19] J.L. Hu, A new method of exact travelling wave solutions for coupled nonlinear differential equations, Phys. Lett. A 322 (2004) 211-216.
- [20] J.H. He, X.H. Wu, Exp-function method for nonlinear wave equations, Chaos Solitons Fractals 30 (2006) 700-708.
- [21] M.L. Wang, X. Li, J. Zhang, The $(\frac{G'}{G})$ -expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics, Phys. Lett. A 372 (2008) 417-423.
- [22] T.B. Benjamin, J.L. Bona, J.J. Mahony, Model equation for long waves in nolinear dispersive system, Philos. Trans. Royal. Soc. Lond. Ser. A 272(1972)47-78.
- [23] B. Abraham-Shrauner, K.S. govinder, Provenance of Type ll hidden symmeries from nonlinear partial differential equations, J. Nonlinear Math. Phys. 13(2006)612-622.
- [24] A. Bekir, New exact travelling wave solutions of some complex nonlinear equations, Commun. Nonlonear Sci. Numer. Simulat. 14(2009)1069-1077.

Youho Lee

Department of Internet Information, Daegu Hanny University, Gyeongsan 712-715, Korea. E-mail: youho@dhu.ac.kr

Mihye Lee Department of Mathematics, Sungkyunkwan University, Suwon 440-746, Korea E-mail: arbitrary@skku.edu

Jaeyoung An Department of Mathematics, Sungkyunkwan University, Suwon 440-746, Korea E-mail: jaegong@skku.edu